

## A New Result on Generalized Summability Factors Via Convex Sequences

**Aditya Kumar Raghuvanshi**

Department of Mathematics  
 IFTM University Moradabad ,U.P., India  
 dr.adityaraghuvanshi@gmail.com

**Ripendra Kumar**

Department of Mathematics  
 IFTM University Moradabad, U.P., India.  
 ripendra.kmr@gmail.com

**B.K. Singh**

Department of Mathematics  
 IFTM University Moradabad, U.P., India.  
 dbks68@yahoo.con.in

**Abstract:** In this paper, a known theorem dealing with  $|C, \alpha, \beta, \delta|_k$ -summability factors has been generalized for  $|C, \alpha, \beta, \gamma, \delta|_k$ -summability factors. Our theorem is based on some known results.

### 1. INTRODUCTION

Let  $\Sigma a_n$  be a given infinite series with partial sums  $(s_n)$ . We denote by  $u_n^{\alpha, \beta}$  and  $t_n^{\alpha, \beta}$  the n-th Cesaro means of order  $(\alpha, \beta)$ , with  $\alpha + \beta > -1$  of the sequence  $(s_n)$  and  $(na_n)$  respectively (Browein [4]).

$$u_n^{\alpha, \beta} = \frac{1}{A_n^{\alpha+\beta}} \sum_{v=0}^n A_{n-v}^{\alpha-1} A_v^{\beta} s_v \quad (1.1)$$

$$t_n^{\alpha, \beta} = \frac{1}{A_n^{\alpha+\beta}} \sum_{v=0}^n A_{n-v}^{\alpha-1} A_v^{\beta} v a_v \quad (1.2)$$

where  $A_n^{\alpha+\beta} = O(n^{\alpha+\beta})$ ,  $A_0^{\alpha+\beta} = 1$ , and  $A_n^{\alpha+\beta} = 0$  for  $n < 0$ .

The series  $\Sigma a_n$  is said to be summable  $|C, \alpha, \beta|_k, k \geq 1$  if (Das [6])

$$\sum_{n=1}^{\infty} n^{k-1} |u_n^{\alpha, \beta} - u_{n-1}^{\alpha, \beta}|^k < \infty \quad (1.3)$$

Since (Das [6])  $t_n^{\alpha, \beta} = n(u_n^{\alpha, \beta} - u_{n-1}^{\alpha, \beta})$  then

$$\sum_{n=1}^{\infty} n^{k-1} |u_n^{\alpha, \beta} - u_{n-1}^{\alpha, \beta}|^k = \sum_{n=1}^{\infty} \frac{1}{n} |t_n^{\alpha, \beta}|^k < \infty \quad (1.4)$$

The series  $\Sigma a_n$  is summable  $|C, \alpha, \beta, \delta|_k, k \geq 1$  and  $\delta \geq 0$  if (Bor [1])

$$\sum_{n=1}^{\infty} n^{\delta k + k - 1} |u_n^{\alpha, \beta} - u_{n-1}^{\alpha, \beta}|^k = \sum_{n=1}^{\infty} n^{\delta k - 1} |t_n^{\alpha, \beta}|^k < \infty \quad (1.5)$$

And  $\Sigma a_n$  is summable  $|C, \alpha, \beta, \gamma, \delta|_k, k \geq 1, \delta \geq 0$  and  $\gamma \geq 1$  if

$$\sum_{n=1}^{\infty} n^{\gamma(\delta k + k - 1)} |u_n^{\alpha, \beta} - u_{n-1}^{\alpha, \beta}|^k = \sum_{n=1}^{\infty} n^{\gamma(\delta k - 1)} |t_n^{\alpha, \beta}|^k < \infty \quad (1.6)$$

If we take  $\gamma = 1$  then  $|C, \alpha, \beta, \gamma, \delta|_k$ -summability reduces to  $|C, \alpha, \beta, \delta|_k$ -summability. If we take  $\gamma = 1, \delta = 0, \beta = 0$  then  $|C, \alpha, \beta, \gamma, \delta|_k$ -summability reduces to  $|C, \alpha|_k$ -summability.

A sequence  $(\lambda_n)$  is said to be convex sequence if  $\Delta^2 \lambda_n > 0$  where  $\Delta^2 \lambda_n = \Delta \lambda_n - \Delta \lambda_{n+1}$  and  $\Delta \lambda_n = \lambda_n - \lambda_{n+1}$ .

## 2. KNOWN THEOREM

Bor [2] has proved the following theorem

**Theorem 2.1** If  $(\lambda_n)$  is a convex sequence such that  $\sum n^{-1}\lambda_n$  is convergent and the sequence

$(W_n^{\alpha,\beta})$  defined by

$$W_n^{\alpha,\beta} = |t_n^{\alpha,\beta}|, \quad \alpha = 1, \beta > -1 \tag{2.1}$$

$$W_n^{\alpha,\beta} = \max_{1 \leq v \leq n} |t_n^{\alpha,\beta}|, \quad 0 < \alpha < 1, \beta > -1 \tag{2.2}$$

Satisfying the condition

$$(n^\delta W_n^{\alpha,\beta})^k = O\{(\log n)^{p+k-1}\} (C, 1) \tag{2.3}$$

Then the series  $\sum (\log(n+1))^{-(p+k-1)} a_n \lambda_n$  is summable  $|C, \alpha, \beta, \delta|_k$  for  $0 < \alpha \leq 1, \beta > -1, k \geq 1, \delta \geq 0, p \geq 0$  and  $\alpha + \beta - \delta > 0$ .

## 3. THE MAIN RESULT

Generalizing theorem 2.1 we have proved the following theorem.

**Theorem 3.1** If  $(\lambda_n)$  is convex sequence such that  $\sum n^{-1}\lambda_n$  is convergent and sequence  $(W_n^{\alpha,\beta})$  defined by (2.1) and (2.2) satisfying the condition

$$(n^{\gamma(\delta k-1)+1} (W_n^{\alpha,\beta})^k) = O\{(\log n)^{p+k-1}\} (C, 1)$$

then the series  $\sum \log(n+1)^{-(p+k-1)} a_n \lambda_n$  is summable  $|C, \alpha, \beta, \gamma, \delta|_k$  for  $0 < \alpha \leq 1, \beta > -1, k \geq 1, \delta \geq 0, \gamma \geq 1, p \geq 0$  and  $\alpha + \beta - \gamma(\delta-1) > 0$ .

## 4. LEMMAS

We need the following lemmas for the the proof of our theorem.

**Lemma 4.1** (Chow [5]) If  $(\lambda_n)$  is a convex sequence such that the series  $\sum n^{-1}\lambda_n$  is convergent, then  $(\lambda_n)$  is non-negative and non-increasing,

$$n\Delta\lambda_n = O(1) \text{ as } n \rightarrow \infty$$

and

$$\lambda_n \log n = O(1) \text{ as } n \rightarrow \infty$$

**Lemma 4.2** (Bor [3]) If  $0 < \alpha \leq 1, \beta > -1$  and  $1 \leq v \leq n$  then

$$\left| \sum_{p=0}^v A_{n-p}^{\alpha-1} A_p^\beta a_p \right| \leq \max_{1 \leq m \leq v} \left| \sum_{p=0}^m A_{m-p}^{\alpha-1} A_p^\beta a_p \right|$$

**Lemma 4.3** (Prasad [8]) If  $((\log(n+1))^{p+k-1} X_n)$  satisfies the same condition as  $(\lambda_n)$  in lemma 4.1 then

$$n(\log(n+1))^{p+k-1} \Delta X_n = O(1) \text{ as } n \rightarrow \infty$$

and

$$\sum_{n=1}^{\infty} n(\log(n+1))^{p+k-1} \Delta^2 X_n = O(1) \text{ as } m \rightarrow \infty$$

**Lemma 4.4** (Lal [7]) If  $(\lambda_n)$  is a convex sequence such that the  $\sum n^{-1}\lambda_n$  is convergent then for  $p \geq 0$  and  $k \geq 1$

$$\sum_{n=1}^{\infty} \frac{\Delta(\lambda_n)^k}{(\log(n+1))^{p(k+1)+(k-1)^2}} = O(1) \text{ as } m \rightarrow \infty$$

## 5. PROOF OF THE THEOREM

We write

$$X_n = \frac{\lambda_n}{(\log(n+1))^{p+k-1}} = (\log(n+1))^{-(p+k-1)}$$

Let  $(T_n^{\alpha,\beta})$  be the  $n$ -th  $(C, \alpha, \beta)$  mean of the sequence  $(na_n X_n)$  then

$$T_n^{\alpha,\beta} = \frac{1}{A_n^{\alpha+\beta}} \sum_{v=1}^n A_{n-1}^{\alpha-1} A_v^\beta v a_v X_v$$

By Abel's transformation and using lemm 4.2, we have that

$$\begin{aligned} T_n^{\alpha,\beta} &= \frac{1}{A_n^{\alpha+\beta}} \sum_{v=1}^{n-1} \Delta X_v \sum_{i=1}^v A_{n-u}^{\alpha-1} A_i^\beta i a_i + \frac{X_n}{A_n^{\alpha+\beta}} \sum_{v=1}^n A_{n-v}^{\alpha-1} A_v^\beta v a_v \\ |T_n^{\alpha,\beta}| &\leq \frac{1}{A_n^{\alpha+\beta}} \sum_{v=1}^{n-1} \Delta X_v \left| \sum_{i=1}^v A_{n-i}^{\alpha-1} A_i^\beta i a_i \right| + \frac{X_n}{A_n^{\alpha+\beta}} \left| \sum_{v=1}^n A_{n-v}^{\alpha-1} A_v^\beta v a_v \right| \\ &\leq \frac{1}{A_n^{\alpha+\beta}} \sum_{v=1}^{n-1} A_v^\alpha A_v^\beta W_v^{\alpha,\beta} \Delta X_v + X_n W_n^{\alpha,\beta} \\ &= T_{n,1}^{\alpha,\beta} + T_{n,2}^{\alpha,\beta} \quad (\text{say}) \end{aligned}$$

Since

$$|T_{n,1}^{\alpha,\beta} + T_{n,2}^{\alpha,\beta}| \leq 2^k (|T_{n,1}^{\alpha,\beta}|^k + |T_{n,2}^{\alpha,\beta}|^k)$$

In order to complete the proof of the theorem, it is sufficient to show that

$$\sum_{n=1}^{\infty} n^{\gamma(\delta k-1)} |T_{n,r}^{\alpha,\beta}|^k < \infty \text{ for } r = 1, 2.$$

whenever  $k > 1$ , we can apply Hölder's inequality with  $k$  and  $k'$ , where  $\frac{1}{k} + \frac{1}{k'} = 1$  we get that

$$\begin{aligned} \sum_{n=2}^{m+1} n^{\gamma(\delta k-1)} |T_{n,1}^{\alpha,\beta}|^k &< \sum_{n=2}^{m+1} n^{\gamma(\delta k-1)} \left| \frac{1}{A_n^{\alpha+\beta}} \sum_{v=2}^{n-1} A_v^\alpha A_v^\beta W_v^{\alpha+\beta} \Delta X_v \right|^k \\ &= O(1) \sum_{n=2}^{m+1} \frac{n^{\gamma(\delta k-1)}}{n^{(\alpha+\beta)k}} \left\{ \sum_{v=1}^{n-1} v^{\alpha k} v^{\beta k} \Delta X_v (W_v^{\alpha+\beta})^k \right\} \left\{ \sum_{v=1}^{n-1} \Delta X_v \right\}^{k-1} \\ &= O(1) \sum_{v=1}^m v^{(\alpha+\beta)k} \Delta X_v (W_v^{\alpha+\beta})^k \sum_{n=v+1}^{m+1} \frac{1}{n^{\gamma+(\alpha+\beta-\delta\gamma)k}} \\ &= O(1) \sum_{v=1}^m v^{(\alpha+\beta)k} \Delta X_v (W_v^{\alpha+\beta})^k \int_v^\infty \frac{dx}{x^{\gamma+(\alpha+\beta-\delta\gamma)k}} \\ &= O(1) \sum_{v=1}^m \Delta X_v v^{\gamma(\delta k-1)+1} (W_v^{\alpha,\beta})^k \\ &= O(1) \sum_{v=1}^{m+1} \Delta(\Delta X_v) \sum_{p=1}^v (p^{\gamma(\delta k-1)+1} (W_p^{\alpha,\beta})^k) + O(1) \Delta X_m \sum_{v=1}^m v^{\gamma(\delta k-1)+1} (W_v^{\alpha,\beta})^k \\ &= O(1) \sum_{v=1}^{m-1} v(\log(v+1))^{p+k-1} \Delta^2 X_v + O(m(\log(m+1))^{p+k-1} \Delta X_m) \\ &= O(1) \text{ as } m \rightarrow \infty \end{aligned}$$

By the application of lemm 4.3 similarly, we have that

$$\begin{aligned} \sum_{n=1}^m n^{\gamma(\delta k-1)} |X_n W_n^{\alpha+\beta}|^k &= O(1) \sum_{n=1}^m \frac{X_n^k}{n} n^{\gamma(\delta k-1)+1} (W_n^{\alpha,\beta})^k \\ &= O(1) \sum_{n=1}^{m-1} \Delta(n^{-1} X_n^k) \sum_{v=1}^n v^{\gamma(\delta k-1)+1} (W_v^{\alpha,\beta})^k + O(1) \frac{X_m^k}{m} \sum_{v=1}^m v^{\gamma(\delta k-1)+1} (W_v^{\alpha,\beta})^k \\ &= O(1) \sum_{n=1}^{m-1} n(\log(n+1))^{p+k-1} \Delta(n^{-1} X_n^k) + O(X_m^k (\log(m+1))^{p+k-1}) \\ &= O(1) \sum_{n=1}^{m-1} n^{-1} X_n^k (\log(n+1))^{p+k-1} + O(1) \sum_{n=1}^{m-1} n^{-1} X_n^k (\log(n+1))^{p+k-1} \Delta X_n^k \end{aligned}$$

$$\begin{aligned}
 & +O(1)(\log(m+1))^{p+k-1} X_m^k \\
 & = O(1) \sum_{n=1}^{m-1} \frac{(\lambda_n \log(n+1))^k}{(n+1)(\log(n+1))^{1+p(k-1)+k(k-1)}} + O(1) \sum_{n=1}^{m-1} \frac{\Delta \lambda_n^k}{(\log(n+1))^{p(k-1)+(k-1)^2}} \\
 & \quad + O(1) \left( \frac{(\lambda_m \log(m+1))^k}{(\log(m+1))^{p(k-1)+k(k-1)+1}} \right) \\
 & = O(1) \text{ as } m \rightarrow \infty
 \end{aligned}$$

By the application of lemm 4.4.

This completes the proof of the theorem.

## 6. CONCLUSION

Above theorem gives the more general results in comparision of the theorem of H.Bor and will have an important place in the existing literature.

## ACKNOWLEDGEMENT

The author wish to thanks the referees for their careful reading of the manuscript and for their helpful suggestion.

## REFERENCES

- [1] Bor, H.; On the generalized absolute Cesaro summability, Pac. J. Appl. Math. (2009).
- [2] Bor, H.; A new factor theorem for absolute Cesaro summability, Bul. Of Math. Analysis and Appl. Vol. 3 (2011).
- [3] Bor, H.; On a new application of quasi power increasing sequences, Proc. Est. Acad. Sci. 57, (2008).
- [4] Borwein, D.; Theorems on some methods of summability Quart. J. Math. Oxford, Ser. 9 (1958).
- [5] Chow, H.C.; On the summability factor of Fourier series, J. London Math. Soc. 16 (1941).
- [6] Das, G.; A Tauberian theorem for absolute summability, Proc. Camb. Phil. Soc. 67 (1970).
- [7] Lal, S.N.; On the absolute summability factors in infinite series, Bull. Acad. Polon. Sci. Math. Astronom. Phys., 17 (1969).
- [8] Prasad, B.N., Bhatt, S.N.; The summability factor of a Fourier series, Duke Math J., 24 (1957).

## AUTHORS' BIOGRAPHY



**Mr. Aditya Kumar Raghuvanshi** is a research scholar in the departmet of Mathematics, IFTM university Moradabad, India. He has compeleted his M.Sc.(Maths) and M.A.(Economics) from MJPRU Bareily India, B.Ed. from CCSU Meerut India and he has also compeleted his M.Phil.(Maths) from The Global Open University Nagaland India. He has published 14 research papers in various International Journals. His fields of research are Operation Research, Summability and Approximation Theory.



**Mr. Ripendra Kumar** is presently a research scholar in Department of Mathematics IFTM University Moradabad. He compeleted M.Sc.(Maths) in 2003 from Kumaun university Nanital. He also qualified C.S.I.R.-NET exam in mathematics held on December 2006.